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• Consider the following molecules:
o HCl,

o CCl4 ,

o H2O,

o CO2 , and

o CS2 .

• Determine their bond types.

• CS2 has nonpolar bonds. It can’t be a polar molecule!

Molecule
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• Draw electron dot diagrams of the remaining 
molecules:

o HCl,

o CCl4 ,

o H2O, and

o CO2 .

• The electron dot diagram gives you some idea 
of the shape of the molecule.
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• HCl

• CCl4 

• H2O

• CO2
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• The electronegativity tells the relative charge.

• HCl

• CCl4 

• H2O

• CO2

• Consider HCl. Chlorine is more electronegative, 
so hydrogen is comparatively electropositive.

• What about the rest of them?
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• If the charge is distributed assymetrically, the molecule 
is polar.

• If a dividing line can separate the regions of positive 
and negative charge, the charge is distributed 
assymetrically.
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